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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 PHILOSOPHY QUESTION PAPER

This paper contains seventy five (75) objective type questions of two (2) marks
cach. All guestions are compulsory.

The causc of the apprehension of past and present according to the VaiSesikas 1s ¢

(1) AkaSa (2y Ik (3y  Kala 4y Manas

According to Ramanuja, aprthaksiddhins a relation between
(1) Jrvaand Jagat only
(2)  Jivaand Brafunan only

(3)  Jagat and Brahman only

(4)  Between Brafiman and Jiva on the one hand and between Brafiman and Jagat on the other.

What 18 the asamavayikarana ol a dvyvapuka according to the VaiScsikas 7
(1) Paramanu (2)  Parimana ol the paramanu

(3)  Paramanu samyogd (41 [Svara

According to the VaiSesikas satla sarmanya exists m
(1) Pravya. Guna and Karma only

(21 Dravya. Guna. Karma and Samanva only

(3)  Gupaand Karma only

(&) Dravya and Guna only

Which onc among the tollowing 1s not a muriadravya

(1) Marut (2)  Manas (3y  Atman 4y Ksifi

Who among the following Early Greek Philosophers distinguished between appearance and reality

as a contrast between apparent permanence and hidden reality of continuous change 7

(1) Herachtus (2)  Anaxagoras (33 Empedocles 4y Democritus
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Consider the following statements 1 the light of the philosophy of Locke and mark the correct
code :

(a)  Primary qualities are sensible gualities that depend on the percerver,
(b)  Primary qualitics are Color, Sound, Taste and Texture,
(¢} Secondary gualities are those whose existence 1s independent of any percerver,

(d)  Pnmary qualities arc objective properties of things whereas sccondary qualitics are subjective

propertes.

(1) Only (a) and (b) are true
(2)  Only (b) and (¢) arc true
(3)  Only (c) and (d) are true

(4)  Only (d)1s truc

According to Cartesian dualism human beings are a combination of :

(1) Incorporcal and corporcal substances cach operating according to separate scts ol laws.
(2)  Corporeal substances operating according to the same set of laws.

(3)  Incorporcal substances cach operating according o separate scts of rules.

(4)  Incorporcal and corporcal substances both operating to the same set of laws,

An individual Tor Plato can be ;

(1) Sensible object that can be known by perception.
(2)  Image that can be known by perception.

(3)  Sensible object that can be known by rcason,

(4)  Sensible object that can be known by imagination.

Which one of the following can be placed under “"Opinion ™, according to Plato ?
(1) Behel of Chair (2)  Chairness
(33 Blackness of Chair (41 Whiteness of Chair

According to Nichomachean Ethics phronesis reters (o
(17 Practical Wisdom (21 Cardinal Virtue

(3)  Natural Excellence (4)  Happiness
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““T'he mind creates the 1deas of causality and necessity ; we do not obscerve them., ™™ This statement

can be attributed o which once of the following modern western philosophers 7

(1 Ml (2)  Hume (3)  Descartes (4) Locke

Consider the following statements in the context off William James™ pragmatism and mark the
correet code ;

(a)  Universalist notion of truth is rejected

(b Truthis contextless

(¢)  Truth happens to an idea

Code :
(1) Only {a)1s truc (2)  Only (a)and (c) are truc
(3)  Only (b)1s truc (4y  Only (b) and (¢) are true

According to which onc of the following Western Philosophers ““Truth 18 a subjective condition,

not an objective one.”’

(10 Kierkegaard (2)  Hume (3) Kant 4y William James

"Sell” according to Hume 1s :
(1) astatic subject (2)  astatic physical entity

(3)  without a persistent identity (4y  with a persistent identity

Which of the following is not a correct statement

(1) Samkhya holds that a word significs a particular,
(2)  Kumarila holds that word cannot mean particular.
(3)  Early Mimarhsakas hold that word mcans Akrer.

(4)  Naivayikas hold that word does not mean Jas/

In [ndan logic vacyartfe does not mean :

(1) Abhidheyvartha  (2)  Muklvartha (3)  Vvanevartha 4)  Sakvirtha

According to which one of the tollowing schools, Truth of Framais considered o be “Abadfhiartha -
Visayakatva ™

(10 Carviaka (2) Jatna (3)  Advaita ()  Samkhya
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“T'he name and the universal concept are supplicd by our imagination” 18 the view of

(1) Advaiins (2)  Buddhists (3)  Nailvayvikas 4y  VaiScsikas

Which one of the tollowing theory of Khyati illustrates that ““Khyati 1s non-apprehension” of the

distinction between two cognitions which are partial and imperfect’” ?
(1) Viparita khyati (27 Akhvau

(3] athartha khyats () Anvarhi khyiat

Upamana is considered as a case of Praryabhiiad by

(1) Jamnas (2)  Samkhya (3 Vuwsesikas (4)  Naiyavikas

Consider the Assertion (A) and Reason (R) and sclect the correct code given below
Assertion (A) @ Advaiting accept only "Anvayl but not “Kevalanvyl” Anumana.

Reason (R) :  The thing to be inferred must not be the counter positive of non-existence.
Code :

(17 Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) 1s not a correct explanation of (A).

(33 (A) s false and (R) 15 truc.

(41 Both (A) and (R) arc falsc.

According to Advaita Vedanta, the term Andal-Karana- Vidr refers (o
(1) Cognitive mode of mind (2)  Affective mode of mind

(3)  Conative mode of mind (41 All of the above

Consider the Assertion (A) and Reason (R) and select the correct code given below
Assertion (A) : According to Advaita, anything perceived is not revealed by Pramatr - Caitanya,
Reason (R) :  Anything Unperceived is veiled by Ajdana .

Code :

(1) Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  (A) 1s true but (R) 15 false and (R) 15 not the correct explanation of (A).

(31 (A) s false and (R) 15 true.

(41 Both (A) and (R) are falsc.
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Match List-T with List-II and choosc the correct answer by using code given below |

List-I List-1I
(a)  Saksatpratiinh Pratyaksam (1) Dingnaga
(b)  Visesavadhirana-Pradhidna Pratvaksam (ii)  GangesSa
(C)  Pratvaksam kalpanapodhan planam (i) Prabhakara
(d)y  Jaanakarnakam pianam Pratvaksanm (1v)  Yoea

Code :

(a) (b) (c) (d)
(L@ an av)
(2) G @ vl (i)
(3 ) av) @ )
(4 vy iy o ()

Lokasameraha s meant for
(1) The benefit of the Victims (2)  The benefit of the Ancestors

(37 The benefit of the Masses (4)  The benetit of selected few

Which one does not represent frrraina !

(1) Samyak jiana (2)  Samyak karmuanta
(3)  Samyak darSana (4)  Samyvak Caritra

Select the correct sequence :
(1) Artha, Kama, Divirma, Moksa (20 Moksa, Kama, Dharma, Ariha
(3)  Dharma, Kama, Artha, Moksa (4)  Dharma, Artha, Kiama, Moksa

Observation of brafmacaryais a means of meeting :
(1Y Pritr-rnaonly (2)  Rsr-rnaonly

(3)  Peva-ma only 4y Prr-roa and Deva-rna only
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30. Match List-1 with List-IT and choosc the correct answer [rom the code given below

List-I List-1I

(Writer) (Writing)
(a)  Broad (1) Languace of Morals
() Urban (i) Five tvpes of Ethical Theory
(¢)  Hare (i) Metaphivsics of Morals
(d)  Kant vy Fundamentals of Ethics
Code :

(a) (b) (c) (d)
(L ) () (v
(2) vy ()
(3 Gy vy i) )
(4 iy vy (1) (i

31. Match List-I with List-II and choose the correct answer with the help of code given below :

List-I List-1I
(Philosopher) (View)
(a) Zeno (1) Sense of dignity
(b} Hegel (1) Social equilibrium
(cy LS. Mill (i) Be a person
() Samuel Alexander (1v)  Lile according to nature

Code :

(a) (b) (c) (d)
(L avy ) W ()
(2) av) Gy @  (u)
(A an)y (o Q) (v)
@) (@ v

32.  According to Aver, when vou say "This is good’ yvou are :
(1) Communicating yvour feelings
(2)  Expressing your feelings
(3)  Describing a particular things

(4)  Influencing others feelines
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Match List-T with List-IT and choosc the correct answer with the help of code given below

List-I List-II
(a)  Legal theory (1) Practical Reason is the true source of moral obligation
(b)  Kant's view (1) The state 15 the source of moral obligation
(¢)  Intentionist view (itt)  The self is the source of moral obligation
(d)  EBudaemonist view (1v]  Moral obligation 1s imposed by conscience, which is

the supreme authority
Code :
(a) (b) (c) (d)
(L ) @ vy
(2) ) ) Ov)
(3) ) av) () )
4 vy @

Who among the following has said that "Punishment brings wisdom. It is the healing art of
Wickedness” ?

(1) Socrates (23 Plato

(3)  Anstolle 4y Nictzsche

Who among the following has said that “True law 15 the right”™ reason in agreement with nature; it
15 of universal application, unchanging and cverlasting™ 7

(1) Kant (2 Cicero (3)  Hegel 4y Darwimn

Definition of "good™ in terms of self realisation according to Moore would be :
(1) Naturalistue fallacy

(2)  Metaphysical fallacy

(3)  Both Naturalistic and Metaphysical tallacy

(4)  Neither Naturalistic nor Mctaphysical

Which philosopher among the following has classitied "Adjectives™ in three catcgories
(A - words, D - words, G - words) as per their functions

(1) Avyer (2)  Hare (3 Nowell Smith 4y  Stevenson

Which one of the following is consistent regarding moral Judgement ?
(1) Ttisan “Is” Judgement (27  Itis a Logical Judgement

(3)  [tis a Natural Judgement (4 [tisa Normative Judgement
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According to which onc of the following views value-judgements arc essentially imperative 7

(1) Descriptivism (2)  Emotvism (3)  Prescriptivism (<) Intuitionism

Find out the fallacy committed n the syllogistic form @ AAL-
(1) Undistnbuted middle term (23 [heit Major
(37 Illicit Minor (47 Existential Fallacy

Given below are an Assertion (A) and a Reason (R), consider them and sclect the correct

answer from code given here under :

Assertion (A) : A Catcgorical syllogism commits a fallacy of four terms 1f more than three terms
are uscd.

Reason (R) :  Inastandard form of categorical syllogism, there arc three and only three terms
occurring twice each in the same meaning.

Code :

(1) (A) and (R) both arc true and (R) 15 not the correct explanation of (A).

(2)  (A) and (R) both are true and (R) is the correct explanation of (A).

(3)  (A) is true and (R) is false.

(41 (A) and (R) both arc falsc.

The difference between Aristotlean and Boolean mterpretation of categorical propositions 1s as

follows

(1) Anstotlean accepts contrary, sub - contrary, sub-allernation and contradictory relations whercas
Boolean accepts only contradictory relations.

(27 Aristotlean accepts contrary, sub - contrary and Boolean accepts only contradictory relations.

(3)  Anstotlcan and Boolcan both accepts all the above relations.

4y Aristotlean and Boolean both accept none of the above relations.

If A7 proposition 1s converted to "A7 and "E7 proposition 1s contraposited to E, what kind of
fallacy is commited according to Boole 7

(1) Undistributed Middle term (21 Existential Fallacy

(3)  Ilhcit Major (4) it Mainor

Which of the following is a correct statement in the light of truth and validity 7

(1) The truth or falsity of an argument’s conclusion docs by itselt determine the vahdity or
imvalidity of that argument,

(23 The validity of an argument does guarantee the truth of 1ts conclusion.

(3)  Truth and talsity arc attributed to the arguments while vahidity and invahidity are attributed to
the propositions,

(4)  The truth or falsity of an argument’s conclusion docs not by itself determine the validity or
mvalidity of that argument and the fact that an areument is valid does not guarantee the truth

of 1ts conclusion.
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Afaene (A) . fowet wrofas = g 5 =9gsg g =fed g © afs 398 9 9 sifus 98 &

PEE :‘z::ﬂ %"l
deh (R) fordl OT9er TR = 99T = 93 o o919 211 shael 919 U2 2d & o 91 =79
T,
17 H Yedss, Ta 278 § 5] 9 wfed B ©
%E 5
[~

(1) (A) 3R (R) TH 9 & 3T (R), (A) T Hel AEA el &
(2)  (A) 3R (R) SFl weg 2 3 (R), (A) T H21 =4 2

(3)  (A) T T 31T (R) 39T T

(4)  (A) FRR) TAT 3EA T

ST UaY et ki Woiesn dah aeRl i AT H eatad Sia T

(1) oREd! =l TaudiE, E%g, S99V Us M6 Ha F Wi il ¢ el ool el
el AT WY i TR HI

(2)  3TCEREl =R, Taudd, H%g Had i Wik il ¢ 3N el s hadl SATHE §aH oh

TR il T |

(3) STEddl UE geird gl SATE SUieR YT HeHi ohi TR FHId © |
(4) SATEAE UF Fld Sl 39gad TohHl HeH 1 TR T8l hidl ¢ |

gl ‘A’ TehaTer o1 TREdA “A’ H 21 € a1 ‘B’ dehere ol UidaiEdd E H Bl € a1 99 & SHTER
frefafed o < =fed 3 ©

(1)  T9Y 92 A1 (2) Edeqe 4

(3) T U AT (4) AT Ug ST

el U8 9¥d] & aeles ¥ fAefatEd 5§ ¥ S0 91 %Y9 98 § 7

(1) Tore gfea o fFepy =1 Toadr A1 STICAT S9! S A1 ST 1 ey =t €

(2) T gfam =1 e suek fend i Hedmn i 9 € |

(3) T U 7] 1 AN faal & fau g © Safe auar ud SEYal 1 A6 T a6

(4)  Todl Afaa & s 1 godt a1 SEAd 39 e 1 A A7 STaEar &1 YR 781 i I
S &% Al 99 § 1 9% 39 4fd o oRd =1 gera =1 v YSH T8l S|
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45,

46.

47 .

48,

Which one of the following 1s not the correet formulation ol De morgan theorems
(1 ~(pvpp=(~p.~q¢

(2} ~(p 9= {(~pv~q)

(37 ~{p.q)= ~{pvq)

(4) (~pv~q=~{p.q

Match the List-T with List-II and select the correct answer from the code given here under in the

argument and argument form

List-1 List-11
(Arguments) (Argument form)
(a)y A (1) poDqlir=s)
CoAVDE P VT
SLgvs
by CD () p
Foiks S
¢y H () p.g
| Ry
SHL
Gl e Bt iz D (v p
Av( g
S BwD $43.4

Code :

(a) (b) (c) (d)
(L @ ) any o (1v)
(2) () vy (1)
(3) ) ) W (v)
4y vy iy () ()

What are the correct symbolization of the paradoxes of material implication 7
(1) ~po@opandpo(yop) (2} pofygoprand=pgodipog

(3) ~pogopiand ~p2(p>q) 4 polgopandpo(p2qQ)

A statement form 1s said Lo be tautologous

(17 If all of its substitution instances are false.

(2)  Iiits substitution nstances arc admixture of true and falsce.
(33 If all of its substitution instances are true.

(4) i its substitution mstances arc neither true nor false,
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46.

47.

48.

271 a7 frer & ged o fasfafieg § 9 =1 92t 78f & 7

(1)
(2)
(3)
(4)

TEil-1 o1 Fei-11 9 gHferd sy 3 gler va g sehr | A 9 70

(a)

(b)

(<)

(<)

ehe

8

(1)
(2)
(3)
()

~{pv)= (=p . ~y)
~{p.q)= (~pv~q)
~(p.q=~{pvy)

(~pv~qi= ~(p.q

-1 -1
( e ) ( Ffemr 2eRTT)

A 1) (po>yros)
. AvB p VI

i NS
b (i p
Cals S
H (1) p.g
[ P
. H:l
(A-BYC D) (iv) p
Av( 4
LBl S P

(a) (b) (¢) (d)
(1 g any Qv)
() () (v) o (1)
iy ai o (v
(rv)y (i (uy (1)

ofecer Tfafs o TaeyTg & 98] T4 34 ¢ 7

(13
(3)

~polgop) =10y P o p (2) pogop) A ~ p=i(p>q)
~p>2ig>op) 3 ~ p>ip>q) 4y poigop) 31 poip>oyl

FHUF STHN 1 [T Fgl ol & -

(1)
(2)
(3)
(4)

afe 2o |l YTy SS9 2

gfe 2o giqeeIToy Se=l0 9cd US 319 <1 okl TH07 2 |
ofe THE F IfawemTy SeR 9 B |

7 38k Yiagensd 3eeT0 7 1 U B 7 3159 B |

Z © Hel I G
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49,

LN
j—

52.

54,

55

Two statements arc said o matertally equivalent if ;
(1) Both are true and both are falsc.
(27 One is true and another 1s false.
(33 One s Talse and another 1s truc.

(4)  There is no question of truth and falsity 1s involved.

Who among the following has not criticised Human Rights ?

(17 Bentham (2)  Alian Pellet (33  Locke (4)  Nietzsche

Which one of the following feminist activists gave the slogan * The personal is political” ?
(1y  Carol Hansch (23 Simon d¢ Beauvorr

(37 Mary R. Beard (41 Kate Millet

Which one of the tollowing philosophers celebrates the frec play of language as an endless difference

)

ol meaning

(17 Derrida (2)  Russell (3)  Wittgenstein (43 Husser]

Which one of the following lists correctly depicts Heidegeer’s four modes of language ?
(1) Asscruion, Discourse, [dle talk and Saying

(20 Assertion, Reason, Emotion and Idle talk

(3)  Assertion, Understanding. Discourse and talking

(4)  Asscruion, Reason, Understanding and Idle talk

Who among the following mentioned a distinction between authentic and mauthentic forms of

cxistental discourse ?

(1) Heidegger (2)  Husserl] (3) Sartre (4)  Derrida

Three major modes of intentionality, according o Husscrl are :
(1Y Perception, Inference and Opinion.

(2)  Perception, Imagimation and Understanding,

(3)  Perception, Imagination and Signification.

(4)  Pereeption, Inference and Signification.
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19.

A

A

1 KAl ] YTeash W9 el 9l ¢ afa

(1) I T § SR SHl 3THH B

(2) UF TA T N I ATA T
(3) U 3TA T X T FA T

(4)  THH T 3 3T F His YV 81 8l |

Trtafiag 5 9 foma ame A &1 AT =1 T8t & 2 ?

(1) =y (2) uferaa U (3) @i (4  Frew

Tohd ARIEE] Shldehdl - '€ 9HAA g6 Yifclidshel ' A1 Tedl 7

(1) e &l (2) WA € T
(3) U R, 92 (4) e oo

Feferfie ereffaenl B F ® 819 & 3= 1997 & &9 H Wed o o] ) T4 2 2
(1) sfe 2) W (3)  formEEE @ zHd

freferiad o § A © e SESTR o W o <R {aE1s] i FEd T ¢ ?
(1) AfqEed, Ja=r, =94 9@l i A
(2)  Afyehed, Teh, A9 AR =99 9

(3)  afismes, g, g 31T 9]

(&) afaeweq, 9%, wog 3 =g 9]

TrAfafiEa 5 9 foeq s1fedel 9%k o= < YTHI0Teh 9201 STITHI0R 3Tehi] & =< fade e g 7
(1] © ‘Q;] 1 £2) EHE"— (3) T (<h) ciee

THe & TR Tafaden & 99 9E ThE 2 :

(1) 97ae, 9 AN H4 |

(2) T, HEddl S gl |

(3) T, Hoa IR Hecaien |

(4) T, SO 3R Hgcaleh |
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56.

57

Which one of the tollowing Lists of phenomena of consciousness in-itscll s listed by Sartre under

the ontological category of “being™ 7

(17 Necessity, Essentiality, Objectivity and Fame
(2)  Nceessity, Facticity, Objectivity and Shame
(3)  Necessity, Essentiality, Facticity and Shame

(4)  Esscenuiahity, Facticity, Objectivity and Fame

Consider the following Assertion (A) and Reason (R) in the light of Gandhian view and sclect

the correct code

Assertion (A) : Non - Violence presupposes the capacity to strike.

Reason (R) :  Strike is a passive resistance.

Code :

(17 Both (A) and (R) are true and (R) is the correct explanation of (A).
(2)  Both (A) and (R) arc truc but (R) 15 not the correct explanation ol (A).
(33 (A) is true but (R) is false.

(41 (A)1s false but (R) 1s truce.

Match List-T with List-II and select the code from the given below :

List-1 List-TI
(Author) (Writing)
(a)  Tagorc (1) Foundations of Indian Cufture
(by  Gandhi (1) Scarch for the absolute i Neo - Vedanta

(¢)y  K.C.Bhattacharva (i) My Relieion
() S Aurobindo (iv)  Thought Relics
Code :
(a) (b) (c) (d)
(1 ) ay Gvl o (i)
(2)  Ov) () ()
(3) @  avy @
4y iy ) ) (1v)
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56.

8 1.

58.

T & HamHetesh aiuN o ST A FR TEeIed0] =dq] & vl HAl el gHl fEtaiEd § 9 &H

el © ?

(1) wifariEr, IRacEdn, FEquTehdr ST @A

(2)  wifqarEdr, derdEdl, aEiaeRal Sik ok

(3)  AETddl, HaEd, eIl I8 held

refarE] foar = stelss H fWehed (A) 3R ek (R) W faar #Ife 3k 98 5

AT (A) : TSATA i 0T SAEH hl A 2|

i

Tk (R) gaarel TfERa Jialy 2 |

(1) (‘A)ﬁﬂt'k)éﬁfuﬁ%ﬁmk),(mﬁﬂm e

(2)  (A) 3R (R) aF Tel § T (R), (A) 1 Wl AT 8l ©

(3)  (A) HJ&i |c+w1 (R) TeTd ® 2

(4)  (A) Ted ¥ fR (R) WET T

Geit-1 &1 G-I 9 foema #ifee 3R = fou U e 9 w5l 33 g

i1 eii-II
(&R ) (E@ )
(a) SR ()  FIFTIH HF a7 FoH
(by e () TF BR & Usgeqe 57 37—
(¢) . Hl. 9&MEME (i) TF Reftor
(d) 4 exfde (iv) &l Herag

(a) (b) (c) (d)
() G Gv) (D
(2)  (iv) (i) G
(3) @ av) 0 i)
4 Giy @ G (v

|_-,_k_

"""'l

j‘
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Who among the following upholds the view that “The principle of demand and supply can not be

the basis of any Scienee” 7

(1) Ambedkar (2 Gandh (3)  Vivekananda (4y  Marx

Which among the following is not true about the Gandhian principle of "Bread Labour’ ?
(1) [t was designed 1o promote simple iving among all citizens.

(2) [t was designed to promote dignity of labour,

(3) [t was designed (o promote reaction against capitalists.

(4) Tt was designed to promote a sense of equality transcending the prevailing division of
labour.

Who among the following has said that, "If we want to Cultivate true spirit of democracy., we can
not attord 1o be intolerant. Intolerance betrays want of faith in one’s cause’™

(11 Vivekananda (2)  Ambedkar (3)  Tilak (4y  Gandhi

Match the List-I with List-IT and choose the correct answer by selecting one of the code given

below :

List-I List-11I
(a)  "On Referring’ (1) Donald Davidson
(b)  Theory ol Description () JLL. Austin
(c) T - Sentences (i) P.F. Strawson
(d)  Speech - Act (1v)  Bertrand Russell
Code :

(a) (b) (c) (d)
(L 0wy ) W (m
(2) ) ) av) M
(3) vy iy ) (W)

4y (i vy (D GD
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60.

61.

62.

FrefafEd | o forden 98 =R g fo /i1 3IR sy 1 g ToRdl TEa a6 STTeR =1 8] 6l |

= ™y

(1) STEHT (2) e (3) Toaem=

-,

‘Tt gm’ = e fagra s e H fefafea T o adi agi £ 7

(1) =18 g4t Ifint o Hrey Sita" &7 @6 <9 & fou === my o |

(2) e aftel =i ufaver =1 =g <3 = forw s=my T o)

LT e W £irs -

(3) g Yeianigal = fa%g ulafssar sl sgen 2+ = forg fwar e o)

l-\.

(4)

AT

(4) % TEfed g9-Ta9r== | U FHEAT o 916 i S < % fou s Ty o

frafafeg O 9 foegd o =2 © & “afe g0 Aeedy =0 9= 9191 &1 990 S 9%d © d 29

STfEw] eI 2 Wehd | ST ded & gfd favams=m 271

(1) faemm= (2) HATEERT (3) Tasien

(%)

e

Teit-1 &1 G-I ¥ e Fifee iR < fau T e § 9 & g9 981 30 S

-1 Fei-1I

@) eI T 1)y =Hee efazed

(b) AT fw feferwm () oL ua. afes

() F - " (i) W U, wied
() TE-TE (iv) T8 THd

(a) (b) (¢) (d)
(L vy ay @
(2) Gy av) o @
(3 av) )

(4) (i) vy (1) ()
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In the light of Frege™s view which of the following 1s incorrect

(1) Detinite descriptions with proper names have both sense and reference, and their reference

is determined by their sense

(2)  Sense, 1s the mode of presentation ol object which 1s the reference of the expression whose

sense it 1s
(3)  The reference of the predicate is concept

(4)  The reference 1s the mode of presentation

“The meaning, 15 the use™ does not imply that
(1) Uscless discourse 1s gibberish
(2)  Language games vary from onc form ol hife o another

(3)  If the hinguistic expression turns out to be an apt tool within the context of 1U's language

game, 1t 15 meaningful

(4)  Analvsis of language cannot eliminate puzzlements

When “Calling” something good is characteristically praising or commending or recommending;

i refers to
(1) Descriptive fallacy (2)  Asscrtion fallacy

(3)  Speech Act fallacy (4)  Naturalistic fallacy

Consider the Assertion (A) and Reason (R) given below and choose the correct code as vour

d15WEr !

Assertion (A) : “We can and must conceive that blue might exist and vet the sensation of blue

not exist’.

Reason (R) :  Scnsation, according to Moorc, has two clements, consciousness and the other,

objcel of Consciousness.
Code :
(1} Both (A) and (R) are true and (R) correctly explains (A)
(2)  Both (A) and (R) are true but (R) 1s not a correct explanation of (A)
(31 (A) is true, (R) 1s false
(41 Both (A) and (R) are false
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65.
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R o foaR & afeiier o fAefafiEd § © ¥ W& 78 ¢ 2

(1) Afaqerdes 91 & W My foemm § 9 IR Hed 21 21 € SR 39 g9 39 vd g
-Eq%:lﬁh\xl {:E %-l

(2) T, 3H A% o TEIAERLT i ST § S o794 319 i atfasata o wed o o S §

(3) Taem =1 dey seunm

(4)  HeY TSI T THE T

1ol =T Srfywra, A © SEERT A9 TR 7 TR

(1) Ted® = 9E[E g

(2) U e ok STen-3Ten w01 H fa=-fq=1 g1 2|

(3) Al arwT vk sifyefad soeh uToia Wel o HaY H Ush IWIEK |I4F o1 Sdl § df A% Y0
5 |

Pl

(4) MY T fa9ely SeTgd ) 98 9ETE L Gohd |

stel ToRdil =T =] e1=T " e favim ©9 9 99 A1 9 91 Wi ©; 39 919 T

(1) foaromeas gm (2)  aAfywas g
(3) @ foRar gm ()  TFHfaarE g

A Tou MU UEReT (A) 3R ek (R) T RN hiTT SR 19 3T o &9 H 92l 2 I

AFUFYT (A) : TH UL hoddl HL Hahd 8 foh Aol o7 31fqe o1 € fee ot el =1 Hagq 781 €1

& (R) : T % STHR Heled | T 9 ¢, Teh a1 Ja-] ST gHY =d o1 o |
%

(1) (A) 3R (R) TA Wl & &R (R), (A) Fl Tl A H7 < |

2)  (A) 3R (R) TEI & T g (R), (A) T T2 =81 781 2
(3)  (A) HElE, (R) ToId 2 |

4)  (A) R (R) THE A 2
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In Madhva’s philosophy all the following propositions arc true excep! :
(1) Brahman rules cvery grva from within

(2)  Every gsrvais dependent on Brahman

(3)  jrvais not lrec

(4)  BEvery jivais organically related to Brahman

Buddhism advocates the following evcepr:
(1) Nairatmya viada (21 Svadavada

(3)  Pratitvasamuipiada (4 Ksanabhaneura vida

The Mahavakyea , "Tattvamasi” occurs in

(1) Briadarnyaka Upanisad (2)  Mandokyva Upanisad
(3)  Chandogyva Upanisad 4y Fanttiriva Upanisad

Match List-I and List-II and choosc the correet answer with the help of code given

below @

List-1 List-I1
(a)  Satakhyat (1] Yoeacara Buddhists
(b)  Ablunavaanyathd khvati (1) Madhyvamika Buddhists
(¢)  Awunakhyati () Sumkliya
)y Asatakhyati (1v)  Muadhva

Code :

(a) (b)) (c) (d)
(D av) o )
(2) ) av) O (1w
(3 W Gy auw av)

(41 Gy () (1v)  (111)

prepp

Your Personal Exams Guide



www.prepp.in Prepp

Your Personal Exams Guide

67. T o <M H HAfaiEd a5 arl 5 9 Tl 38 &1 I8 T2 2

(1) 98 To0F e ol e H wfed 3 ¢

(2) THF FFee WA

(3)  FFHF TR T

(4) Uk oig "iIgEl B9 9 9e H Herdd g |

68. Sighd fAefafEd 3 9 feaa 9997 78 i 2

(1) TIETEE Q) eI
(3) FATEHR 4y HTYIErS

69. WEEET TRAAE SEHA T ;

(1) FEaRwIe 3uiug ¥ (2) g U o
(3) ®leryg Iufwg o (4)  dfada sufaeg §

70. FA-1 ST G=A-11 o1 Griaa IS - 99 QU T e 1 98@ar § 981 S0 g

Hl-1 ql-11
(a) H&TT i)y FEREE
by  FFFITIYET T ()  #rFfas g9ig
(©)  EHETIT (i) ey
() gl (v) H&F
che :

(a) (b) (¢) (d)
(1) (vy iy ) ()
(21 (u)  (v) (1 (i)
(3 (1) () () ()

@ ) @ v}
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T1. The Pradhana malfa  of “Advaitin’s ™ 18

(17 The Naivavikas (2) The Bauddhas  (3)  The Samkhvans (4)  The Vaisesikas

72, All the following propositions according to Ramanuja are false except :
(1) Ramanuja advocates Karma - Yoga as the principal means o Jrvanmuok(n
(2)  Ramanuja advocates Jddna - Yoga as the principal means to Videhamuakts
(3)  Ramanuja advocates Karma - Yoou as the principal means o Videhamukt

(4)  Ramanuja advocates Bhakei - Yogea as the principal means to Videhamukts

73.  According to Islam, all the following propositions are true exceeps:
(1) Prime of place 1s given Lo prayer and fasting
(2)  Charity 1s the greatest virtue
(3)  Pilgrimage 1s a sacred undertaking to gain the grace of God

(4)  Failing to surrender to the will of God

74. The sequence of the process of bondage and release of jiva, according to Jainism is :
(1) Bandha, samvara, nirjard, moksa, asravi,
(2)  Asrava, bandha. samvara, nirjard, moeksa
(3)  Samivara, nirjara, moksa, asrava, bandha.

(4 Nirpara, moksa, asrava, bandha, samvar.

75. According to Zoroasirianism, all the following propositions are true exceps
(1) Zoroastrianism advocaltes fire - worship.
(2)  In Zorvastrianism, Aframazdais recognised as the God for the good.
(3)  In Zoroastrianisim, Abrimanis recogmsed as the God for the evil,

(4)  Zoroastrianism advocates Varndsrama Vvavastha .

-00o0-
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T2

T3

74.

T3y

(1) TR (2) s (3) W= (4)

(42 L8

Freferfaa amEal o o %9 T TS H T © 2

(1)  THHES Sia7gfEs % UOE 9T & T 5707 % 994 w9 T

(2)  THHS fAeegiad o T8 WA & w9 H F7-77 1 90 L T

= r

(3) TS faceia o U@ 9reE % €9 ° HH-A0 1§99 T

4) TS faceyfea & TE WET % T H Y- 77 1 999 w2 |

5T o SATER fory U =1 sfewt a4l ffafes amm el §

(1) W11 $IR 39ard = yqE w2 foay S g |

(2)  TH HEH GG T |

(3) e Sva w5 uH o fay ufas g 7

(4)  TYE Hahed oh 9ld 9999 H fa%erdl |

S A4 o ATHER T9 o 999 S G 1 9HAT 1 98 FH T

(1) &% Fry, ek, s, e

(21 HEE, FY, GE [Ty, i

(3)  TER e, G1e SrEE, 9y

(&) 50 T, e, 7Y, T

YL o ATER Ty Uk w srew Hefaten qehasa 98 ¢

(1)  SRyEears AfE-qe H1 gudT T ¥

(2) SRR H ' HETEeT ] Hodv ST HHA S 2 |

(3) YA H  o7EfigT 1 9 i Svat " S

(4)  TYEAG JUIFT ] 1 FHYA HA T
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